CLOUD12

12-Inch Ceiling Loudspeakers

Models:
CLOUD1299 / CLOUD1299T
CLOUD1266 / CLOUD1266T

CLOUD12SUB / CLOUD12SUB-T

Installation and Operation Manual




EC STATEMENT OF CONFORMITY

This document confirms that the range of products of Community Professional Loudspeakers bearing the CE
label meet all of the requirements in the EMC directive 89/336/EEC laid down by the Member States Council
for adjustment of legal requirements. Furthermore, the products comply with the rules and regulations
referring to the electromagnetic compatibility of devices from 30-August-1995.

The Community Professional Loudspeaker products bearing the CE label comply with the following
harmonized or national standards:

DIN EN 55013:08-1991

DIN EN 55020:05-1995

DIN EN 55082-1:03-1993

The authorized declaration and compatibility certification resides with the manufacturer and can be viewed
upon request. The responsible manufacturer is the company:

Community Light & Sound
333 East 5" Street
Chester, PA 19013

USA

TEL: 1-610 876-3400
FAX: 1-610 874-0190

Chester, PA USA November 2008

Notice: Every effort has been made to insure that the information contained in this manual was complete
and accurate at the time of printing. However, due to ongoing technical advances, changes or modifications
may have occurred that are not covered in this manual.

Community CLOUD12 - Installation and Operation Manual - Page 2



TABLE OF CONTENTS

IMPORTANT SAFETY INFORMATION ...uiuitiiitititititrteins st st as et st s s st e s s e e et a e a e e e 4
UNPACKING AND INSPECTION 1.t tutitiatitiutisisissssaeraestnssat s e s sas s sas e s saen s s s s s s e s e a e a s e rraaenes 4
CLOUDI2 OVERVIEW ...ttt st s s e s e s st e s s e st s e s e s e e s s e s b st s e st e s a e e s e e s e st e r e e es 5
Table 1: CLOUD12 MOdelS @nd @CCESSOMES «.uuuuiiuttutiutiettitsesaeeassatsaeanseatsasanseanenseaaaneanennens 5-6
CLOUDI2 ASSEMBLY . utitiiiitiiitiiti ittt sttt st s e st e s s et e st e st e s e e s a s e s e s e a e st e s e e s e e e anes 13
WIRING AND INSTALLATION .utiuieitie ettt e e s s et e e e e s e e sase e e s e e s a s e sa s e aaeae s e s eneneeenaneananss 14
Installing Backbox Fittings for Conduit and Strain Relief ... s 14
Connecting Strain Relief to Cable and Loudspeaker Assembly .........ccooioiiiiiiiii s 15
Connecting the Loudspeaker Cable for 8 Ohm (Low Impedance) Connections..........c.cvvvivininnnnn. 16
Connecting the Loudspeaker Cable for 70V/100V ConNECLiONS ...vviieiiieiiiniiiii i ennesnneennennnennns 17
CLOUD12SUB Ceiling Mount SUbWOOfer OVEIVIEW .....c.vieiiiiiiiiiiiie e eanees 17-18
Attaching Channel Rail Kits to the C12BB3 BackboX........cciviiiiiiiiiiii e 19
Suspending the C12BB3 BacCKkbOX ....iiiiiiiiii i e e e e e 21
Attaching the CLOUD12 Loudspeaker to the C12BB3 BackboX .......cccoviiiiiiiiiiiiiiiiiii e 23-24
Attaching the C12SQGRL Grille to the CLOUD12/C12BB3 ASSEmMDbIY ..ociviiiiiiiiiiiiiiiiiiees 25
WARRANTY INFORMATION AND SERVICE ....uuiititiiiiiiisiiesiitrasissssssasesasesasasnasnsssasesasnenasass 26

Figure 1:
Figure 2:
Figure 3:
Figure 4:
Figure 5:
Figure 6:
Figure 7:
Figure 8:
Figure 9:

Figure 10:
Figure 11:
Figure 12:
Figure 13:
Figure 14:
Figure 15:
Figure 16:
Figure 17:
Figure 18:
Figure 19:
Figure 20:
Figure 21:
Figure 22:
Figure 23:
Figure 24:
Figure 25:
Figure 26:
Figure 27:
Figure 28:

TABLE OF FIGURES

CLOUD12 ceiling loudspeaker mounted on a standard ported bBaffle ...........c.ououiiiiiiiiiiiiiiiinenneaeaeas 6
C12BB3 MEtal DACKDOX ....ueieiii ittt e e e e e e e e e et e e e e e e e e e e e e 6
C12SQGRL SQUAre WHRIte Grille ...ttt e e e e e e e e e e e enenenees 7
Channel rails available in 1engths Of 23.75 INCRES, ......uuuiuiiiiiiii e e e e e enes 7
O/ R0 e |1 o 1= 0 I (o] I3 PP 8
(OO0l YV = e [ g 1=T XY (o g K= PP 9
C12BB3 baCkbOX GiMENSIONS .. ...ttt e e e e e ettt ea e e e e r e e a e a e e e e e e e e e enenenes 10
C12SQGRL grille AiMENSIONS .....uieiii e e e et e e e e e e e s e a e a e aea e e e e e eeeenenenes 11
RAIL24-PR channel rail dimMeENSIONS ..........uuiii it s s e e e e e e e et e e a e e e e e e aea e enenanenens 11

RAIL30-PR channel rail dimeEnSiONS ... ...iuiuiuiiiiiii e aeas 12
RAIL48-PR channel rail dimeEnSiONS ... ...iuiuiiiiiiiii e aeas 12
CLOUD12 assembly with backbox, grille and channel rails................ccoiiiiiiiiiiiiiini 13
Knocking out the knockout with @ hammer and PUNCHA .........c.cooiiiiiiiiii 14
CoNNECEiNG SErain FEIIEF ... .. v e 15
CLOUD1266 and CLOUD1299 input panel (8 ohm operation) ..........ccouvuviiiiiiininininie e 16
Attaching the loudspeaker cable to the CLOUD12 input panel ...........couviiiiiiiiininininiiieeens 16
CLOUD1266T and CLOUD1299T input panel (70V/100V 0peration)...........cccviviviniiiniiiinininin, 17
CLOUD12SUB and CLOUDI2SUB T ...uiuiuiiiiiiinisnss ittt s s 18
CLOUD12SUB wiring and input panel (8 0hm 0peration) ..........cvuiiiiiiiiiiiiiiiiiiiin e 18
CLOUD12SUB-T wiring and input panel (70V/100V 0peration) ........cccvuviiiiininininininiisiiiassseens 19
Channel rail kit with to0ls @nd GCCESSOMES ......uuiiiiiiiiii i 20
Tightening the rail Kit t0 the DACKDOX ......iuiuiuiiiiiiiiii e 21
"Snugging” the Ya-iNCh @YEDOIES. ... .iviu i 22
EyebOlt 10ad FAINGS ...uouiuiiii s 22
Proper handling of the CLOUD12 [0UASPEAKEN ... ....uuiuiiiiiininiiiiaiia i aeas 23
Aligning the CLOUD12 With the DAackbDOX .......cuuuiiiiiiiiiiiiiiiiiiii e 24
CLOUD12 installed / gasket COMPIreSSEd .........uuviiiiiiiiiiiiiiiiiiiii e 24
C12SQGRL grille in place on the CLOUD12 aSSEMDIY .......iuiuiiiiiiiiiiiiiiiiiiiisn s 25

Community CLOUD12 - Installation and Operation Manual - Page 3



IMPORTANT SAFETY INFORMATION

Always follow these basic safety precautions when using or installing CLOUD12 loudspeakers and
accessories:

Read these instructions.

Keep these instructions.

Heed all warnings.

Follow all instructions, particularly those pertaining to rigging, mounting, hanging and electrical
connections.

5. Only use accessories that are specified and approved by the manufacturer.

PN

The terms caution, warning, and danger may be used in this manual to alert the reader to important safety
considerations. If you have any questions or do not understand the meaning of these terms, do not proceed
with installation. Contact your local dealer, distributor, or call Community directly for assistance. These
terms are defined below:

CAUTION: describes an operating condition or user action that may expose the equipment
or user to potential damage or danger.

WARNING: describes an operating condition or user action that will likely cause damage to
the equipment or injury to the user or to others in the vicinity.

DANGER: describes an operating condition or user action that will immediately damage the
equipment and/or be extremely dangerous or life threatening to the user or to others in the
vicinity.

The loudspeakers described in this manual are designed to be ‘flown’ or suspended for maximum acoustical
performance using a variety of rigging hardware, means, and methods in some applications. It is essential
that all installation work involving the suspension of these loudspeaker products be performed by
competent, knowledgeable persons who understand safe rigging practices. Severe injury and/or loss of life
may occur if these products are improperly installed. Please read the section on wiring and installation for
additional information.

UNPACKING AND INSPECTION

CLOUD12 loudspeakers are inherently rugged and are carefully packed in sturdy cartons. However, it is
wise to thoroughly inspect each unit after it has been removed from the packaging, as damage could occur
during shipping.

Please note that once the shipment has left your dealer or the Community factory, the responsibility for
damage is always borne by the freight company. If damage has occurred during shipping, you must file a
claim directly with the freight company. It's very important to contact the freight company as soon as
possible after receiving your shipment, as most freight companies have a short time limit within which they
will investigate claims. Make sure to save the carton and the packing material, as most claims will be
denied if these materials are not retained. Your Community dealer and the factory will try to help in any
way they can, but it is the responsibility of the party receiving the shipment to file the damage claim.

It's always a good idea to retain the carton and packing materials indefinitely, if possible, in the event that
the unit may need to be returned to your dealer or distributor for repair in the future.

Each shipping carton contains the following items:

CLOUD12 ceiling loudspeaker mounted on a standard ported baffle (Qty 1)

Four 8/32 screws (for mounting the baffle to a C12BB3 backbox sold separately)
Operation manual (Qty 1)

Warranty card (Qty 1)

Community CLOUD12 - Installation and Operation Manual - Page 4



CLOUD12 OVERVIEW

Thank you for purchasing your new Community CLOUD12 Series High Output Ceiling Loudspeakers. The
CLOUD12 and CLOUD12SUB ceiling loudspeakers are extremely high output devices, intended to meet the
needs of the professional sound contractor for a variety of professional sound installation applications.
Available in either 60 x 60 degree or 90 x 90 degree coverage patterns, and in both 8 ohm and 70v/100V
formats, the 12-inch woofer and high output co-axially mounted 1-inch tweeter deliver high quality sound
over a wide coverage area. For installations that require extra bass output, the CLOUD12SUB provides a
matched 12-inch ceiling-mount subwoofer.

The CLOUD12 and CLOUD12SUB are provided with multi-terminal barrier strips for amplifier connection. The
70V/100V versions of the CLOUD12 and CLOUD12SUB are provided with the following 70V wattage taps:
25/50/100/200W. For applications outside North America, the following 100V taps are offered:
50/100/200W.

The CLOUD12 and CLOUD12SUB loudspeakers employ Community's advanced technology DYNA-TECH™
driver protection system. Functioning as a multi-stage limiter, DYNA-TECH circuitry provides precise and
repeatable protection by reducing excessive power to the drivers under abusive conditions. There are
numerous advantages to this type of multi-stage protection circuitry. The trip point is pre-set to engage at
exactly the same time on all loudspeakers that are powered from the same amplifier. The initial stages of
DYNA-TECH protection circuitry do not rely on, and are not affected by heat build-up. If the system is
operated in the second-stage mode of protection for a long period of time, or if the input level is increased
to try to overcome the volume drop from the second-stage protection circuitry, a solid-state circuit breaker
will trip and remove all signal from the loudspeaker until the input level is reduced. Because this circuit
breaker is heat sensitive, it provides a final level of protection that takes heat into account as well as power.

The CLOUD12 and CLOUD12SUB come mounted on a standard ported baffle, and are equipped with eight
(8) mounting points for industry standard backboxes. Each package includes four (4) 8/32 screws for
mounting the baffle to a backbox.

The CLOUD12 and CLOUD12SUB can be flush-mounted into any ceiling type, or alternatively can be
suspended in an open ceiling. For proper installation, the CLOUD12 assembly must be mounted to a
backbox, such as the Community C12BB3 heavily braced 3.0-cubic foot metal backbox. Additional
accessories available for the CLOUD12 include the C12SQGRL square white grille, and installation channel
rails in 23.75-inch, 30-inch and 47.75-inch lengths (RAIL24-PR, RAIL30-PR and RAIL48-PR, respectively).

Table 1 lists a summary of the available CLOUD12 models and accessories.

Table 1: CLOUD12 models and accessories

Part Number Description
Two-way, full-range 12-inch coaxial ceiling loudspeaker with 60° x
CLOUD1266 60° coverage, 8 ohm operation
Two-way, full-range 12-inch coaxial ceiling loudspeaker with 60° x
CLoUD1266T 60° coverage, 70V/100V operation
CLOUD1299 Two-way, full-range 12-inch coaxial ceiling loudspeaker with 90° x
90° coverage, 8 ohm operation
Two-way, full-range 12-inch coaxial ceiling loudspeaker with 60° x
CLOUD1299T 60° coverage, 70V/100V operation
CLOUD12SUB 12-inch ceiling mount subwoofer, 360° x 180° coverage, 8 ohm
operation
CLOUD12SUB-T 12-inch ceiling mount subwoofer, 360° x 180° coverage, 70V/100V
operation
C12BB3 3.0 cubic foot metal backbox for CLOUD12 ceiling loudspeakers

Community CLOUD12 - Installation and Operation Manual - Page 5



C12SQGRL Square white grille for CLOUD12 ceiling loudspeakers

RAIL24-PR Pair of 23.75-inch channel rails for CLOUD12 ceiling loudspeakers
RAIL30-PR Pair of 30-inch channel rails for CLOUD12 ceiling loudspeakers
RAIL48-PR Pair of 47.75-inch channel rails for CLOUD12 ceiling loudspeakers
1/4EYBLTKIT Kit of four (4) 1/4"-20 forged eyebolts

Figure 1: CLOUD12 ceiling loudspeaker mounted on a standard ported baffle

Figure 2: C12BB3 metal backbox

Community CLOUD12 - Installation and Operation Manual - Page 6




Figure 3: C12SQGRL square white grille

Figure 4: Channel rails available in lengths of 23.75 inches,
30 inches and 47.75 inches (sold in pairs)

Community CLOUD12 - Installation and Operation Manual - Page 7



Figure 5: CLOUD12 dimensions

j 13.900"[353.06] V«).zso'[s.ss] DIA HOLES

13.900" [353.06]

r {2

6.938" [176.21] ; - p \

—=  13.125"[333.38]

—=f  12.625"[320.68
[320.68] (8)8-32 THREADED HOLES

|

13.125"
[333.38]
12.625 l

14.625" [371.48]

[320.68]

— 14.625" [371.48] ——

Community CLOUD12 - Installation and Operation Manual - Page 8



Figure 6: CLOUD12SUB dimensions

T 13.900" [353.06] V@) 250" [6.35] DIA HOLES

13.900" [353.06]

I =
8.500'[215]9] I IFI %

=  13.125"[333.38] (=—
_ol  12.625"[320.68] f—

(8) 8-32 THREADED HOLES

|

13.126"
[333.38]
12.625" }

14.625"[371.48]

[320.68]

— 14.625" [371.48] |=—

Community CLOUD12 - Installation and Operation Manual - Page 9



14.625"

Figure 7: C12BB3

—————23.000" [584.2]

10-24 WELD NU
(FAR SIDE)

[371.48]

14.625"

1371.48]

1.135" [28.83] DI

1.250" [31 .75]-—|

Al

13.900" [353.06]

20.000

" [508]

L—13.900“

[353.06]—=

TOP VIEW

KNOCKOUT (BOTH SIDES)

/-1 .135" [28.83 ] DIA CONDUIT

~—13.300" [337.62 —

e 1.500"[38.

3.000" [76.2] -

1]

1
\-.870" [22.1] DIA CONDUIT

KNOCKOUT (BOTH SIDES)

SIDE VIEW

e

A\CONDUIT KNOCKOUT

50012, 7]—;

il

SLOT
315" X 2.000"
[8 X 50.8] . 12.000" [304.8]
~3.000" [76.2]
} ;&
1.500° [38.1] |,
1 ' \_
.870" [22.1] DIA CONDUIT
KNOCK OUT HEtoRY (\LV Etﬁé"é’g)
END VIEW
backbox dimensions

Community CLOUD12 - Installation and Operation Manual - Page 10



Figure 8: C12SQGRL grille dimensions

900" [12.7]

250" [6.35]DIA HOLE 15.500" [393.7]
G SECTION A-A

15°
- \’ {ALL AROUND)

1.5mm THICK STEEL FRAME

15.500 1295.7] 13.125" [333.38]
FINISH-WHITE POWDERCOAT-MATTE.
13.125" [333.38]
C128QGRL
Figure 9: RAIL24-PR channel rail dimensions
709" [18.00]
(TYP SPACING) (20) HOLES .276" [7] DIA
.709" [18.00] =
iRy —1.500" [38.10]
N N 4 b d b0
1,000" [25.40]—f
23.750" [603.25]
—= p=—1.180"[30]
(TYP) o - —1.500" [38.10]
500" [12.70]- 7]
+ - S ”
.m&mj f
(TYP) e 10.550" [267.97] — 1~ 10.550" [267.97] — M

MATERIAL 2mm THICK

RAIL24

Community CLOUD12 - Installation and Operation Manual - Page 11

STEEL



Figure 10: RAIL30-PR channel rail dimensions

—es

TJO9"[18.00]—ey |t
(TYP)

709" [18.00]

(TYP SPACING)

(20) HOLES 276" [TIDIA

—1.500" [38.10]

I ————

1.000" [25.40]3

(

1.180"[30]

30.000" [762.00]

/-CL

—

~1.500" [38.10]

|i ||

oo | |

:
I

314781 J
(TYPF)

e 10.650" [267.97] —

RAIL30

b 10.550" [267.97] —

500" [12.70]

MATERIAL 2mm THICK STEEL

Figure 11: RAIL48-PR channel rail dimensions

-~ t==709" EB.OO

NV

(TYP SPACING)~(20) HOLES 276" [7] DIA
709" [18.00]—=q fal
WP)I 1.500" [38.10]
S0 b9 B e T o T
1.000" [25.40]d
47.750" [1212.85]
~ - 1.180" [30

( (TYP) B2l ~CL =] [1.600"[38.10]

1

| 4 am 1 | ]
e 314 B3
—10.550" [267.97] 10.550" [267.97]— 1~
500" [12.70]
RAIL48 MATERIAL 2mm THICK STEEL

Community CLOUD12 - Installation and Operation Manual - Page 12



CLOUD12 ASSEMBLY

The assembly diagram below illustrates how the CLOUD12 loudspeaker, C12BB3 backbox, C12SQGRL grille

and channel rails are assembled together. Please note that the C12BB3 ships as a backbox only, and all
other parts shown are optional accessories.

Figure 12: CLOUD12 assembly with backbox, grille and channel rails

_ (4 EACH) 1/2" & 3/4"

) CONDUIT KNOCK-0UTS
(4) 1/4" EYEBOLT ' ?
(4) 1/4-20 INSERT ? C12BB3
; RAIL KIT MOUNTING TAB
RAIL24-PR,
(4) 1/4™ FLAT WASHER 22 0

RAIL3C-PR

OR RAILAB-PR
(4) 1/4-20 x 1" =

HEX HEAD SCREW ‘ﬂ.

(4) 1/4" FLAT WASHER

(4) 1/4" LOCK WASHER
(4) 1/4" HEX NUT

(4) #10 FLAT WASHER
(4) #10 LOCK WASHER

(4) 10-24 x 1/2"
PHILIPS TRUSS HEAD SCREW

CLOUD12 Series
Loudspeaker

C125QGRL

(4) 8=-32 x 1-1/2"
PHILIPS TRUSS HEAD SCREW

Community CLOUD12 - Installation and Operation Manual - Page 13



WIRING AND INSTALLATION

This manual will serve to assist in wiring and physically mounting CLOUD1266, CLOUD1266T, CLOUD1299,
CLOUD1299T, CLOUD12SUB and CLOUD12SUB-T loudspeakers. The directions include assistance to those
installers using a complete Community package of loudspeakers and accessories, including the C12BB3
backbox, C12SQGRL square grille and appropriate tile rails. If accessory products from a different
manufacturer are used, please refer to the installation manuals supplied with those products.

Installing Backbox Fittings for Conduit and Strain Relief
Required tools:

e One hammer and knockout punch tool
One step-bit for adjusting knockout diameter (optional)

e Safety glasses, gloves and other personal safety gear are recommended as this process involves
striking metal parts and chipping away debris around the knockouts.

building & fire codes. The selection of appropriate electrical hardware to interface with the C12BB3
lies solely with the installation professional. Community recommends that an appropriately licensed

engineer, electrician, or other professional identify and select the appropriate conduit, fittings, wire,
etc. for the installation.

it NOTE: All electrical installation connections for speaker lines are subject to local, state, and federal

Instructions for installing backbox fittings for conduit and strain relief:

1. The C12BB3 comes equipped with knockout fittings on each side panel measuring:
a. 21/32” (17mm) to accommodate 3/4” fittings
b. 15/16” (24mm) to accommodate 1” fittings

2. The knockouts are removed with a hammer and punch using the same techniques for removing
knockouts in other types of electrical boxes. A step-bit can be used to modify the diameter of the
knockout to accommodate larger conduit sizes.

3. Insert appropriate fittings and tighten sufficiently for wire path concealment and strain relief, in
accordance with applicable codes.

4. The acoustical damping batting material on the interior of the C12BB3 backbox should not cover the
inside surface of knockouts. If the batting covers the knockouts, peel back about four inches to
expose the knockouts. Trim off any excess batting that has been peeled back so that it will not
interfere with the loudspeaker’s function.

White mastic acoustical material on the C12BB3 (looks like white plaster) can be chipped away as needed to
allow electrical fittings to seat securely on the metal surface surrounding the knockout.

Figure 13: Knocking out the knockout with a hammer and punch

Community CLOUD12 - Installation and Operation Manual - Page 14



Connecting Strain Relief to Cable and Loudspeaker Assembly

Pass the loudspeaker cable through the appropriate knockout opening in the backbox and secure the cable
with a standard electrical tie-wrap (not provided) to provide strain relief (see figures below).

Figure 14: Connecting strain relief

STRAIN RELIEF PREPARATION TIGHTENING STRAIN RELIEF #1

TIGHTENING STRAIN RELIEF #2 PREPARING TO CUT TIE-WRAP

CUTTING TIE-WRAP COMPLETED STRAIN RELIEF
= N /

'

Community CLOUD12 - Installation and Operation Manual - Page 15



Connecting the Loudspeaker Cable for 8 Ohm (Low Impedance)
Connections

Connect the common side of the speaker cable to the " - " terminal on the input block. Connect the positive
side of the speaker cable to the " + " terminal on the input block. 14 AWG twisted pair speaker cable is
recommended for most 8 ohm applications when using spade or ring terminals. The speaker input block will
accept up to 10 AWG cable directly without spade terminals. For multiple speakers, attach the subsequent
speakers by parallel connecting them to the " =" and " + " input terminals of the previous speaker.

NOTE: Community recommends crimping a spade terminal (1/4” width spade) to the end of the

A speaker wire prior to connection to the terminal block. In the absence of spade terminals, wire
ends can be stripped %" (7mm) and connected to the terminal block. Be careful not to strip too
much as frayed wire ends can short across the terminal block. Ring terminals do not fit.

Figure 15: CLOUD1266 and CLOUD1299 input panel (8 ohm operation

PROFESSIONAL LOUDSPEAKERS

CLOUD SERIES

2-WAY COAXIAL
LOUDSPEAKER SYSTEM

IMPEDANCE 8Q
POWER CAPACITY 200W RMS
500W PROGRAM

(REMOVE JUMPER COMMUNITY LIGHT & SOUND, INC.
TO REDUCE 333 East 5th. St., Chester, PA 19013 USA

HF LEVEL)

2003

Figure 16: Attaching the loudspeaker cable to the CLOUD12 input panel

Community CLOUD12 - Installation and Operation Manual - Page 16



Connecting the Loudspeaker Cable for 70V/100V Connections

Connect the common side of the speaker cable to the "common” terminal on the input block. Connect the
positive side of the speaker cable to the appropriate 70V/100V wattage tap based on the requirements of
the project. For multiple 70V/100V speakers, attach the subsequent speakers by parallel connecting them to
the “common” and appropriate autoformer input terminals of the previous speaker.

speaker wire prior to connection to the terminal block. In the absence of spade terminals, wire
ends can be stripped %" (7mm) and connected to the terminal block. Be careful not to strip too
much as frayed wire ends can short across the terminal block. Ring terminals do not fit.

f NOTE: Community recommends crimping a spade terminal (%" width spade) to the end of the

Figure 17: CLOUD1266T and CLOUD1299T input panel (70V/100V operation)

COMMON
PROFESSIONAL LOUDSPEAKERS

100V, N.C. CLOUD SERIES

70.7V, 200w

100V, 200W
70.7V, 100W

2-WAY COAXIAL

100V, 100W LOUDSPEAKER SYSTEM
70.7V, 50W

70.7 /100 VOLT INPUT
100V, 50W POWER CAPACITY 200W RMS
70.7V, 25W 500W PROGRAM

HF PAD
(REMOVE JUMPER
TO REDUCE

HF LEVEL)

COMMUNITY LIGHT & SOUND, INC.
333 East 5th. St., Chester, PA 19013 USA

I
|

2003

CLOUD12SUB Ceiling Mount Subwoofer Overview

The CLOUD12SUB ceiling subwoofer is the same size and weight as the full-range CLOUD12 Series of ceiling
loudspeakers. All mechanical assembly and installation instructions and procedures are the same for the
CLOUD12SUB as the full-range assemblies. The autoformer tap selections on the 70V/100V version
CLOUD12SUB-T and the full-range assemblies are identical. Differences in sensitivity among the various
models will require different wattage taps, and all amplifier power is calculated using the total number of
loudspeakers, regardless of the mix of full-range and subwoofer assemblies.

NOTE: The electrical damping factor of the subwoofer amplifier is a critical factor when
selecting equipment to support the CLOUD12SUB. Damping factor refers to the power
amplifier’s ability to stop (or "dampen”) a reproduced frequency. The higher the damping
factor, the better the amplifier will control the LF driver. Bass frequencies are more difficult
to control than higher frequencies, and therefore the damping factor becomes more
important to the overall system. The higher the damping factor, the better the amplifier will

Community CLOUD12 - Installation and Operation Manual - Page 17



control the LF driver. The damping factor of an amplifier is dependent largely on its output
impedance. A high damping factor indicates that an amplifier will have greater control over
the movement of the speaker cone, particularly near the resonant frequency of the driver’s
mechanical resonance. Community recommends that the damping factor of the subwoofer
amplifier be greater than 100 @ 8 ohms. Additionally, the cable chosen should be at least
14 AWG for optimum LF reproduction with minimum line loss and minimum reduction in
damping factor. It should be further noted that damping factor is more of an influence in a
low impedance (8 ohm) system than a high impedance (70.7V) system.

Figure 18: CLOUD12SUB and CLOUD12SUB-T

CLOUD12SUB (8 OHM OPERATION) CLOUD12SUB-T (70V/100V OPERATION)

The CLOUD12SUB ceiling subwoofer is shipped with 24 inches of two-conductor, 16 AWG speaker cable
attached via crimped spade terminals on one end. The other end is stripped and ready to connect via wire
nut to incoming cable. See the figure below for input terminal designation.

Figure 19: CLOUD12SUB wiring and input panel (8 ohm operation

CLOUD 12 SuB

CLOUD12SUB
[

N.C. N.C. IN- IN+
BLACK | WHITE

Community CLOUD12 - Installation and Operation Manual - Page 18



The CLOUD12SUB-T ceiling subwoofer is shipped with a 5-conductor cable for connection to the appropriate
autoformer input position. See the figures below for input terminal designation.

Figure 20: CLOUD12SUB-T wiring and input panel (70V/100V operation)

CLOUD iI2 SUB T

Attaching Channel Rail Kits to the C12BB3 Backbox

Community offers rail kits in three popular lengths: 24 inches, 30 inches and 48 inches. Choose the
appropriate size kit to fit the architectural structural supports for the CLOUD12 speaker and C12BB3
backbox assembly. The CLOUD12 speaker system is meant primarily for installation in ceilings, and these
instructions follow that path. Other installation locations, such as in walls, are also possible.

Rail kits can be installed directly to the building structure, and can be used to create additional rigging
solutions. Please remember that when using rail kits for rigging supported by steel wire, rope, chain, or
similar materials, the center of gravity of the assembly might be above the attachment points on the rail kit.

NOTE: The rail itself may not provide sufficient stiffness if rigged from a point located far
from the backbox tabs. Community recommends all mounting and rigging methods be
approved by a qualified Professional Engineer.

Required tools:

e Two 7/16” (11mm) wrenches, socket drivers, or spin-tights (nut drivers).
e Torque wrench (as needed) to verify proper fastener torque.

Community CLOUD12 - Installation and Operation Manual - Page 19



Figure 21: Channel rail kit with tools and accessories

Instructions for attaching the channel rails to the backbox:

1. Unpack the RAIL24-PR, RAIL30-PR, or RAIL48-PR kit and find the following contents:
Two mounting rails

(4) 1/4-20 x 1" Hex Head Screws

(4) 1/4” Hex Nuts

(8) 1/4" Flat Washers

(4) 1/4" Lock Washers

Liability Waiver Card

"o a0 oo

2. Set rail along one side of the C12BB3 backbox so that the leg of the rail aligns with the slotted holes
against the slotted tabs.

3. Orient the leg with the row of ten 9/32” holes in the desired direction for it to fasten to the building
structure. The installer will likely orient the rail so that this leg faces the same direction as the
speaker and will rest on top of the ceiling structure. However, keep in mind there are other
installation scenarios that require placing the rail in the opposite orientation.

4, Assemble the hex screws hardware. For each tab location, use one hex screw, one hex nut, two
washers, and one lock washer.

5. Tighten the hex screws to a maximum 10 Ib-ft torque.
6. Repeat the above steps for the other rail on the other side of the C12BB3.

7. Please note that the slotted hole in the rail can be used to adjust the position of the rail horizontally
for best installation location.

8. Please note also that the slotted tab on the C12BB3 permits the rail to be adjusted vertically to
adjust the trim height of the loudspeaker in the ceiling.

Community CLOUD12 - Installation and Operation Manual - Page 20



Figure 22: Tightening the rail kit to the backbox

Suspending the C12BB3 Backbox

The C12BB3 backbox will generally be installed in tile-based ceiling systems, but can also be installed in
open space. Use eyebolt kits (part number 1/4EYBLTKIT) to fasten conventional rigging hardware to the
C12BB3.

NOTE: There are several 1/4-20 suspension points located in the back panel of the
C12BB3. These can be used as alternate support and rigging points for open ceiling plan
installation. Community recommends all mounting and rigging methods be approved by a
qualified Professional Engineer.
Required Tool:
e  Stiff screwdriver (or similar tool) for snugging eyebolts
Instructions for suspending the backbox using eyebolts:
1. Unpack the 1/4EYBLTKIT and find the following items:
a. (4) 1/4” Forged Shouldered Eyebolts
b. (4) Cup Washers

2. Set aside (4) cup washers as they are not used for this application.

3. Insert one eyebolt kit in each suspension point and turn it until seated snug on the rear of the
cabinet surface.

4. Do not over-tighten the eyebolt. Once seated, the eyebolt will only need 1/8-turn to %-turn to
firmly tighten. Insert a stiff tool through the eye to help “snug” the eyebolt into position, but do not
use that as a tightening (or “torquing”) tool.

5. In some cases shims (not included) will be necessary to adjust the orientation of the eyebolt so that
the plane of the eye correctly aligns with the direction of the attached suspension cable.

6. The eyebolts should be installed tight enough to prevent accidental unfastening, but not tight
enough to damage the insert threads.

Community CLOUD12 - Installation and Operation Manual - Page 21



Figure 23: “"Snugging” the Ya-inch eyebolts

Eyebolt Suspension:

The eyebolts must be screwed in so that the shoulder firmly contacts the surface of the enclosure. In all
cases the direction of pull on the eyebolt and mounting point should not exceed a maximum of 459 from the
vertical axis of the mounting point hole. Multiple cables that can independently support the loudspeaker
must also be used. See the following figure.

Figure 24: Eyebolt load ratings

Best Practice
Do Not Pull __.,} 100% Load Rating
0% Load Rating = 25% Load Rating
0% 453
AP Do Not Pull
. | ’g0° " 0% Load Rating

NOTES:

e There is no benefit in tightening the eyebolt more than hand tight. Never pull an eyebolt sideways
or at 90° to a vertical pull angle.

e The CLOUD12 family of loudspeaker assemblies must be installed in a backbox prior to permanent
installation. In order to conform to local electrical codes, do not install any CLOUD12 loudspeaker
assembly in a ceiling without an appropriate backbox such as the Community C12BB3.

e The CLOUD12 loudspeakers can generate substantial vibrations, which can cause the ceiling tile or
other parts of the support structure to audibly buzz. Depending on the nature of the ceiling tile and
the overall structure, the installer may elect to adhere dampening material (not provided) such as
neoprene under the tile rails or the edges of the tiles themselves to eliminate buzzing or rattling.

Community CLOUD12 - Installation and Operation Manual - Page 22



Attaching the CLOUD12 Loudspeaker to the C12BB3 Backbox

NOTE: The CLOUD12 loudspeaker weighs approximately 20 Ibs and the C12BB3 backbox
weighs at least 40 Ibs. Both are awkward and difficult to handle. Lift the CLOUD12 by the
speaker basket or main support backing only; do not use the terminal strip or the autoformer
(70V/100V versions only) as a lift point. It is highly recommended that two people work as a
team to install the C12BB3 backbox into the ceiling and the CLOUD12 assembly into the
backbox. Beware of sharp edges on the cast woofer basket. These are a normal remnant
of the casting process.

Required tools:

One #2 Philips Screwdriver
Safety glasses and other related personal safety gear are always recommended when working
overhead.

e It is highly recommended that two people participate in this portion of the installation. Placing and
installing loudspeaker assemblies in a ceiling is a dangerous enterprise for one person to undertake.

Instructions for attaching the CLOUD12 to the backbox:

1. Refer to instructions in this manual related to suspending the C12BB3 and supporting the C12BB3
safely.

2. Make all necessary conduit or other wire path ingress installations before proceeding with the
installation. For more information on interfacing common conduit fittings with the C12BB3, please
refer to the portion of this manual addressing that topic.

3. After removal of the CLOUD12 loudspeaker from the shipping container, find the following items:

Parts List for fastening CLOUD12 Loudspeaker to C12BB3 backbox:

(1) CLOUD12 Ceiling Loudspeaker (1) Warranty Documentation

(4) 10-24 x 1/2" Philips Truss Head Screws (1) Warranty Registration Card

(4) #10 Flat Washers (1) Waiver of Liability Card

(4) #10 Lock Washers (1) Installation and Operation Manual
(4) 8/32 Screws (1) Specification Sheet

Figure 25: Proper handling of the CLOUD12 loudspeaker

4. Refer to instructions earlier in this manual to make the necessary electrical connections to the
loudspeaker’s amplifier circuit, being careful to observe polarity and to use the correct taps for
transformer-equipped (70V/100V) units.

5. Set the CLOUD12 into the square hole in the C12BB3. Handle the speaker assembly by its metal
frame or baffle plate. Be careful to not handle the weight of the assembly by the electronic parts or

Community CLOUD12 - Installation and Operation Manual - Page 23



the speaker’s paper cone. It will likely require the assistance of a second worker to hold the
CLOUD12 speaker assembly. Alternately, a fixture might be devised to safely support the speaker
frame while fastening it into the C12BB3.

Be sure that the neoprene rubber gasket material surrounding the outer edge of the speaker frame
makes contact and seals all the way along the perimeter of the raised square flange on the C12BB3.

Insert and start threading all four 10-24 x 2" Philips Truss Head Screws using one #10 Flat Washer
and one #10 Lock Washer as shown in Figure 12. After all four screws have been threaded one or
two turns; tighten screws hand-tight so that the neoprene gasket is evenly compressed. Do not
over-tighten the Philips head screws, but do take care to ensure that they are firmly seated and that
the lock washer has compressed.

Check and review that all steps above have been carefully followed.

Figure 26: Aligning the CLOUD12 with the backbox

Figure 27: CLOUD12 installed / gasket compressed

Community CLOUD12 - Installation and Operation Manual - Page 24



Attaching the C12SQGRL Grille to the CLOUD12/C12BB3 Assembly

Required tools:

One #2 Philips Screwdriver

e Superlative vision and a flashlight to see the tiny black holes behind the grille when inserting the
screws

e Safety glasses are highly recommended

Instructions for attaching the grille to the loudspeaker and backbox assembly:

1. Unpack C12SQGRL and inspect contents to find the following:
(1) C12SQGRL white grille
(4) 8-32 x 1-1/2" Philips truss head screws

2. The C12SQGRL is provided in white. The grille can be painted if another color is desired. Use a high
quality spray paint only. Prior to painting, the surface should be treated to remove the sheen from the
polyester powder coating. This can be done with fine grit sanding or chemical sheen removers such as
trisodium phosphate. Primer and finish coat paint is applied in the same manner as other metal
surfaces. If the C12SQGRL grille is roller or brush painted, the mesh material may become clogged with
paint, resulting in attenuating of high frequencies and subsequent poor sound.

3. Please note the two locations at each corner of the CLOUD12 loudspeaker baffle plate for
attaching grilles. The holes closer to the perimeter of the baffle plate are used for the
C12SQGRL. The holes closer to the speaker cone are used for other manufacturer’s
compatible grilles.

4. Place the C12SQGRL grille over the face of the CLOUD12 loudspeaker so that the edges of the grille
wrap around and conceal the edges of the baffle plate and surrounding ceiling material.

5. Line up one of the 8-32 x 1-1/2" Philips truss head screws through one hole in the C12SQGRL and insert
it into the correct hole in the CLOUD12 baffle plate. Turn the screw one or two turns to get it started.
Repeat this process for the remaining three screws.

6. Carefully snug all four mounting screws evenly so that both edges of the grille make firm contact with
surrounding ceiling material or so that the upper surface of the grille makes firm contact with the baffle
plate (for installations where the CLOUD12 speaker and backbox are installed in free space).

7. Be sure the grille is tightened enough to be securely fastened to the CLOUD12 loudspeaker, and snug
enough to the ceiling material (or the baffle) so that the grille does not vibrate.

Figure 28: C12SQGRL grille in place on the CLOUD12 assembly

Community CLOUD12 - Installation and Operation Manual - Page 25



WARRANTY INFORMATION AND SERVICE

Transferable Warranty "(Limited)” Valid in the USA Only

Community CLOUD12 ceiling loudspeakers are warranted in the USA to be free from manufacturing defects
in materials and workmanship for a period of five years, as determined by one of the following two methods,
whichever is longer:

Starting from the date of retail purchase, as noted on the sales receipt from an authorized Community
dealer,
OR

Starting from the date of manufacture, determined by the serial number, if the sales receipt is not available.

This warranty applies to the product; therefore, the remainder of the warranty period will be automatically
transferred to any subsequent owner.

This warranty applies only to failure of a Community loudspeaker caused by defects in materials and
workmanship during the stated warranty period. It does not apply to a unit that has been subjected to
abuse, accident, modification, improper handling/installation, or repairs made without factory authorization
or by anyone other than authorized Community Field Service Stations. This warranty is void if the serial
number has been defaced, altered or removed.

Products covered by this warranty will be repaired or replaced at the option of Community, without charge
for materials or labor, provided all the terms of this warranty have been met.

Obtaining Warranty Service
Warranty service may be obtained from the factory, or from an authorized Field Service Station.

To obtain factory or field warranty service for products purchased in the United States, return the product
for inspection to the address below, freight prepaid, in the original packaging. If the original packaging is
not available, call or write Community Warranty Service to obtain proper packaging materials or hand carry
the product to the nearest Field Service Station.

Factory Service Center:
Community Warranty Service
333 East Fifth Street
Chester, PA 19013-4511 USA

Field Service Station:
Call (610) 876-3400 for the nearest Authorized Field Service Station

For factory service, please call (610) 876-3400 for a Return Authorization (R/A) number before shipping.
The following information must be included in the package:

1) Owner’s complete name, daytime phone number, return street address and return authorization
number.

2) The serial number of the product being returned and a copy of the retail sales receipt, if possible.

3) A complete description of the problem(s) experienced, including a brief description of how the
equipment is being used and with what brand, model and output power of amplifier.

Upon receipt, the service center will determine if the problem is covered under warranty. If covered under
this warranty, the product will be repaired or replaced, at Community’s option, and returned to the owner
freight prepaid. If the problem is not covered under this warranty, the owner will be notified of the problem
with an estimate of the repair costs.

Consequential and Incidental Damages: Community shall not be liable for any consequential or incidental
damages including, without limitation, injury to persons, property, or loss of use. Some states do not allow

Community CLOUD12 - Installation and Operation Manual - Page 26



the exclusion or limitations of consequential or incidental damages, so the above limitations and exclusions
may not apply.

This Community warranty is not extended by the length of time which an owner is deprived of the use of the
product. Repairs and replacement parts provided under the terms of this warranty shall carry only the
remaining portion of the warranty.

Community reserves the right to change the design of any product from time to time, without notice and
with no obligation to make corresponding changes in products previously manufactured.

While this warranty gives specific legal rights, there may also be other rights that vary from state to state.
No action to enforce this warranty shall be permitted ninety days after expiration of the warranty period.
Warranty Information and Service for Countries Other Than the USA

To obtain specific warranty information and available service locations for countries other than the United
States of America, contact the authorized Community Distributor for your specific country or region.

Community CLOUD12 - Installation and Operation Manual - Page 27



Community

Community Professional Loudspeakers
333 East Fifth Street, Chester, PA 19013-4511 USA
Tel: 1-(610) 876-3400 | Fax: 1-(610)874-0190
www.communitypro.com

© 2008 All Rights Reserved

20081218




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


